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Paper II : Organic Chemistry

Section—A 1x10=10
1. The hypochromic shift is also called as : gEUIHIH® ¥R Heemm

- (2)Red shift @6 BROT  (b) Blue shift el foreer
(c) Green shift 80 fa®9T  (d) None of the above 394% ¥ § #1E

el _
2. The TUPAC name for (CH;),CBrCH,CH,Br is : (CH;),CBrCH,.

CH,Br 1. IUPAC M ¥—

(a) 3-methyl-1, 3-dibromobutane (b) 1, 3-dibromo-3-methylbutanc'
(c) Both T (a) and W& (b) are correct /&l (d) None of the above Ig® 3
] IS & |

- 3. The claisen condensation is often used in preparation : &9 §&7
W 94 T&ﬁ'd'f '%, TR FH H—

(a) B-hydroxyl ester (b) a-hydroxyl ester

(¢) y-keto ester . (d) B-keto ester.

4. The reaction CH;CH,Br + OH- — CH;CH,OH + Br- is an example
of : CH;CH,Br + OH- — CH;CH,0H + Br- 3ifufshan © 3emm §—

(a) Nucleophilic_substitution A% F€T F*49= (b) Electrophilic
substitution $eT9gI T8t WRRUTH (c) Nucleophilic addition 1R St aF1
(d) Electrophilic addition 3o/ et arm1 |

S. Ethyl acetoacetate is prepared from ethyl acetate by : Tforet T&iee §
e TR T —

_ (a) Benzoin condensation F=§ Y& (b) Aldol condensation TeSIdA
HY (c) Claisen condensation 49 ¥99 (d) Dieckmann condensation

fewum demm |

6. The final product of reformastsky reaction is : Az afafwag
F1 9 IR 8— |

(a) o-hydroxy acid ¥TEEIRH 37 (b) Alcohols Tehied

(c) Aldehydes TeeteTsEE (d) B-Hydroxy acid g13gTerd! 317 |
7. Aldehydes can be distinguished from ketones by using the following

%cagcms?m Afvehe i weTam A CeieEe WE HI0F B a9 fean wm
; .

(a) conc. WL H,80, (b) Anhydrous 1% ZnCl,
(c) Tollen’s Reagent 3Y& sy
(d) Phenyl hydrazine fFTeet Tregrit
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8. The necessary condition for aldol reaction is : e 99 E D fam
HTETIH T &—

(a) Aldehyde or ketone must have an o-H TFERRe Al Earac & o-H
@1 16T (b) Aldehyde or ketone must have an B-H TSRS 91 HIT4 T
B-H &1 91feT (c) Aldehyde or ketone must have an y-H TeEIRRES 41 &M
T y-H T@ 96T (d) None of the above I94® | & FIE 721 |

9. The reactive intermediate in the Reimer-Tiemann reaction is : T"X-

T Atfufsr = afsea anafas —
(a) The formylanion BIRAES TAEA (b) The formylcarbocation THITHEA

FE HIA@A (¢) Dichlorocarbene TEFARI et (d) Dichloromethyl-

carbocat ion SEFAATYE &l HeATH |

10. The reaction that can be effected by sodium in dry ether is : F17-H
sifufira 9@ 3§ Aifsan % g wwifam e s s ® 2

(a) Cannizaro reaction et AfHfHAT (b) Acyloin condesation

TETEARA "9 (¢) Birch reduction T q9ad (d) Meerwein Pondroff
Verley reduction fatfa 9=t el 7q=a |

Section—B ' 2x5=10

1. Write short notes on Beer-Lambert Law. siat-awré fam | dfers
feaqoft fafen

2. Define Infrared spectroscopy. 31N Wil =i faa=m1 Ffee

3. Define chromophore and auxochrome. SRIHIB T EATHIH &l
gftwifya wifsm )

4. Write about Reimer-Tiemann reaction. {mi-2rgwd tfufsar & v
fafaw i

5. Discuss synthesis of epoxides. SHFHIEE ¥ Hyerwwl & s # fafaq

6. Write about Cannizaro reaction. ISR fufsran % w # fafay |

7. Write about preparation of carboxylic acid. FTaifsiers 3 % 1
¥ an A fafagu

8. Differentiate between benzaldehyde and acetaldehyde. I<IERIZS
Td wEidfeerEe ¥ R W wifa

9. Explain action of heat on «, B and y hydroxy acid. o, p a1y
TRSE ST W AN % YN 1 qO Hig )

10. Differentiate between alkyl nitrite and nitroalkane. Teehigel IRgI<
E AReITeHA W I T Hifad |

Section—C 10 x3 =30

1. Define Uv-visible spectroscopy. Discuss its selection rules and its
application in chemistry. SICTATAIE-fafvaa TTgrehdl St fad=m Hifs
% O el @ A faa o WS 39dm w1 9uH SR

2. (i) Explain Gatterman synthesis. TIETH7 HeI90 T T HifWC |

(i) Explain Pinacol-Pinacolone rearrangement reaction with its

mechanism. fAwe-fAdds qredaen afufsEa %1 Torarfafy wfga
quAR |
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3. (i) Describe the general methods for the introduction of hydroxy!
group into benzene nucleus. ¥=17 Tfiw # TREfFa o9 ¥ @y g
fafi= fafimdl =1 aufs Fifa

(ii) Discuss Lederer-Manasse reaction. fafe-wrR sifufwar =1 gvf5
Hifeq |

4. (i) Discuss mechanism of williamson's synthesis. faferanas dvamm
=t Tranfafy wasmeu

(ii) Discuss Hofmann bromanide reaction. ETFHH sHRe Afufwa W=
Sifeg |

5. (i) What is diazotisation ? Give its mechanism. BTSUSIHIHT 1 & ?
! Trarfafy gagmee)

(i) Discuss preparation of alkyl and aryl amine. Ufesret T ofte w9 &
w1 =1 fafy fafae
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